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Introduction
°

All exercises will follow this general schedule

Identify potential understanding problems
— Ask your questions
— Recap of the lecture

Address the understanding problems
— Answer your questions
— Repeat certain topics

Walk through the exercises/solutions — Some hints and guidance
— Work time or presentation of results



Recap of the Lecture
©00

You have seen ...
the main services of the Data Link Layer
what link layer are and how they can be

the specific design of and
frames
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You have seen . ..

which network components typically can be on the Data Link
Layer
the of

how MAC addresses are composed (— and )



Recap of the Lecture
ooe

You have seen ...
what functionality is provided by and
how these devices about the topology
which strategies exist
that on the Data Link Layer can cause serious problems

how loops can be avoided by creating a logical hierarchy with the
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